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Let X be a set. We define the power set P(X) to be the set of all subsets of X. For example,
if X = {1,2}, then P(X) = {0, {1}, {2}, {1,2}}. -

MTEGELS
Consider the set Y = {1, 2, 3}. Define a function f : P(Y) — Z by f(S) = Zx

xS

(For example, f({1,3}) =1+3=4.)
Prove that f is not one-to-one. £is one-4o-one i€ €o¢ X1eX and k26X
%i?éxf)r-éfcxz‘)j =) Xy=X2
ke a4 [ {%? and & i;}% A Hoth part o€
considec {({3%) and £€§1,23}). 3 Gnd ¢ 102 > bhoth ¢
Then, €£(£33)=3 and £($1,23) =14

So, ‘(C{’S})ﬁ £C51123) =3,

However, £33 # ¢ if% ( a contradiction*o '”f:l
deCmnition o€ 1-40-1 )

-+ £ 75 pot one-to-one.
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